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9. m= i Vi (3\/_ 2) <—i l> They are orthogonal so the dot product is 0.

1. Vf (0,4,1) = <206_3,O,0> directional derivative is —%e

2. 4x+4y—-7=0

3. z:—2\/§(x—%j+2\/§(y+%j+5

4 L(x,y)=—§(x+3)+g(y—5)+5:_3X+4y; L(-2.97,4.06) =5.03
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7. (L-1-4)

8. (11),(-1-1),(0,0)
9. CPat (|I’l 5,0) and it is a saddle point.
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and minimize Xy +2XZ +2yz=Xy+—+—=f (X, y) dimensions: 3x3 x 1.5
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11. Absolute max f (g,%j =1; absolute min f (0,2) =-8

10. Use Z =

12. Absolute max is 98, absolute min is -14.
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23. oJ‘ 3e* dxdy =J-0 .[o 3e* dydx =§(e —1). The function was not able to be integrated in the first
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order without use of a power series.

02 04-2X 32
24. | IO (—4x—2y+8)dydx=?

e 12+12sinx
25. J

dydx =48

Jo

26. .Zﬁjm(Sr —ryl+r? )drde = @n
Jo J2v2 3

12-12sin x

27. '2122r3sin @cosOdrdd = 15
JO J1 2




MTH-210

28. j;josrzdrde = %ﬂ'

j [ rardo

Review for Test 3 Answers

Luczak



